ST1170E

&\

4 4,
: i
41 .g"s*‘«.“
=
a0—5 14
. 35
T
17
1%
1._
Eg
T > "
e 3 5 59
£2 5% ) 65
20 a3 : 1
;3 46 R &
34 =0 R
E . I .
TILE Q/ !%. 50
skl >
7 AN
54 / i
“—/
1.3
No. ApTUKYN Chinese Name Material Kon-so
1 SX-11-008 AT 2
2 NF-002B hj AR R AL 1
3 SX-11-031-1A FHA 1B 1
4 SX-11-36B-3 TR 2k 1
5 SX-11-258 TEIRLY 2
6 HFB-8*40 CAVAY eI ] A M8X40 4
7 NF-001-14-1 EEFWEL 65Mn 1
8 NF-001-12 BAEML A3 1
9 HS-5*35 CAVAYiiL Y M5X35 2
10 SX-11-029 FESA PP 2
11 NHLN-5 SR AL 7S A B AR iR B M5 4
12 SX-11-028 T PP 2
13 SX-11-027 E| R 2
14 FB-8*16*1.2 SFHL @8x16x1.2 7
15 NHLN-8 SR AL 7S A B iR B M8 4
16 HS-6*12 CAVAYiiL Y M6X12 4
17 HS-10*45 CAVAVIIE M10X45 1
18 NF-001-4-02 B AL 4 (2) A3 1
19 GPP6562C-01-07 VT A3 1




20 HN-8 e 5 W M8 2
21 NF-001-8 RS SREAE Q235 1
22 STG8062Ae-26 HPFA PVC 2
23 NF-001-15 R4 R A3 1
24 FB-5*12*1 - 34 ©5%12x1 12
25 SHSS-4.8*16 2l R Sk B B 2 M4.8X16 12
26 |[STG11 (13) 70 (10) AE-02-02-08 FIEE T 1
27 FB-10*28*3 -4 ©10*@28*3 1
28 NHLN-6 AR VAV RN 3s M6 4
29 NF-001-4-01 PYALRE ESE (1) A3 1
30 NHLN-10 A IV RN 35s M10 1
31 CHSS-3.2*30 +- 0k F BB 2 3.2X20 4
32 NF-001-5-02 AR T R A3 1
33 STG8062AE-22 8HPJT 42 PP 1
34 L-620 I 1
35 HS-8%45 SN FE R M8X45 3
36 NF-001-7-01 H S RS A ] A A A3 1
37 SJ-223 R I 65Mn 2
38 SA-008 BRSO 3
39 SJ-210-1 VAHTBRJE TR L 45 1
40 NF-001-14-3 TR E o 253 65Mn 1
41 HS-8*50 VYAV e M8*50 1
42 SJ-224 HP B 2
43 SJ-215 UL H 2
44 SA-011 OF % 2
45 NF-001-13 L DS AOIKAT A3 1
46 SJ-209 WA R A 1
47 HFN-8 AN F R L TR M8 1
48 NF-010 YERLHIER PP 1
49 FB-8*22*2 -4 @8x22x2 3
50 SJ-233 RS iE] A3 1
. 3.2X25
51 CP-3.2*25 TF 24 GB/T91-2000 1
52 SX-11-36E W 2k 1
53 NF-001-7 S RS A7 [ e 4R A3 1
54 NF-001-14-1 BEE T2 65Mn 1
55 NF-001-01 ERACIE:Vay i (R 1
56 SX-11-036B-2 ki 2k 1
57 NF-SX-11-31-1 B AT 1
58 NF-001-11 BEEEM3 A3 1
59 NF-002A hj Fetk T R 1
60 NF-001-6 EAGE Y 65Mn 1
61 HFB-5*10 SIS A TE 2 M5X10 2
62 NJ-01 i HH A 2
63 NJ-02 GEEil) 2
64 SW-8 AR 8 2
65 BE-4*12 AT @412 4
66 GPP6562C-01-09 1 3 [A] B R T 5 1 65Mn 1
67 OSP-2. 5%25 pAR S| 2. 5%25h 1




ST1170E

1516171819202122 23

Ne ApTUKYN 2 Kon-so| MHREE
1 LC185 VI L 1 LC185
2 SX-11-180 S e B8 PP
3 FB-6%16%1. 5 SF- 2 d 6%16%1. 5
4 HS—6%12 VAVAYiL A 2 M6%12
5 SX-11-173 /NER R 1 A3
6 SJ-046 /N BRI # 1 A3
7 SJ-035-1 ST 1 65Mn
8 HS-8%20 VAVAY L A 1 M8*20
9 FB-8%16%1. 2 SP-3h 2 Pp8X d16X1.2
10 HS-8%20 VAVAYiL A 1 [|8%20 GB5780-8
11 SX-11-170 /INTR B TR (A £ Ak Bk i K 1
12 SX-11-170B HhE 1 A3
13 SJ-008C SJEAS 1 [A3  551QEH
14 BE-3202 VAVAY L P2 1 [8*35 GB5780-8
15 NHLN-8 eS8 AN 1 BT A iR B M8
16 SW-8 L 2
17 FB-8%28%3 P 1 ¢ 8% d 28%3
18 SX-11-168A BN A 1 & HT150
19 L.BV13-930 VIR 1 A 2 V13-930
20 SX-11-168C /Ny e 1 71.102




21 TB-5M*825 SMIE] 2P 717 1 |1HP) 825 (9HF
29 SX-11-168b ECEE | T |
23 FB-25%35%2 P 2 25X 35X 5
24 NHLN-10 EeJmA S fpAlERE | 4 MO |
25 FB-10%20%2 TR 4 |10%20%2 GB95-
26 FD-04-62 £ 48 N EEE




ST1170E

No. ApTukyn Chinese Name Material

1 NS-L8*40 I aE AL M8X40

2 | STG11(13)70(10)AE-02-02-10 HTTY A3

3 SSG5580A.23-01 28 £k HD-PE

4 BG-8 W ¢8

5 HFN-8 %R R M8

6 HS-10*45 GETN F B AR M8*45

7 FD-04-54 ST A3

8 HS-10*20 GETN F B AR M10%20

9 FB-10*20*2 RS ¢10*20*1.2 GB95-85
10 |STG11(13)70(10)AE-02-02-03 A A3

11 FRP-6*30 el e ®4x15

12 SX-11-148 H AR A3

13 HS-6%12 SN IR 2 M6x12 GB12-88
14 |STG11(13)70(10)AE-02-02-02 RXRH & A4

15 NHLN-10 BBl vavi i a5 M10

16 FB-10*20*2 RS ¢10*20*1.2 GB95-85
17 |STG11(13)70(10)AE-02-01-15 AR A

18 BE-6001 TRVAER K 6001

19 |STG11(13)70(10)AE-02-01-14 gk SRS A3

20 FB-12*35*2 ik D12*P35*2

21 NHLN-12 RIS B R IR R M12

22 HFB-8*20 AN VR Z IR M8*20 GB5780-86
23 SW-8 FEEA M8

24 FB-8*22*2 -5 ®8*22*2 GB95-85




25 KBE-6203 5 LB T 5 TA R AK 6203 GB277-82
26 SR-17 R ®17

27 SX-11-183 HER WK GESE
28 |STG11(13)70(10)AE-02-01-08 — il 40Cr

29 SJ-013B AR T TRV ER 76007 ([F551QiE )
30 SR-35 W ®35

31 HS-10*16 AN MRS M10x16
32 | STG1310AE-02-01-07-01 AR A3

33 SJ-013A ESIE YN A3

34 SJ-013D AR A AR el PU

35 SJ-013C BRI ES wFRGESE
36 FB-8*16*1.2 FH ¢8*16*1.2GB95-85
37 |STG11(13)70(10)AE-02-01-01 Nk ST12

38 NHLN-5 EL RIS f pi A B M5

39 FB-5*16*1.2 S ©5*916*1.2
40 HFB-5*16 CAVAY R Y in M5x16
41 HS-6*16 CAVAY L M6*16

42 SW-6 LI ®6

43 FB-6*23*3 S $6*23*3
44 C-08A-051 — S AR 2

45 KBE-6203 5 LB T S A TA R G AK 6202 GB277-82
46 SR-15 W5 ®15

47 |STG11(13)70(10)AE-02-01-10 R 45

48 FK-A5*12 T 5%5%12 (ATH)
49 |STG11(13)70(10)AE-02-01-09 5 40Cr

50 SW-20 R ®20

51 |STG11(13)70(10)AE-02-01-12 = R 45

52 FK-A5*18 T 5*5*18 (AT)
53 |[STG11(13)70(10)AE-02-01-11 5 = 4l 40Cr

54 FK-A6*20 T 6*6*20 (AT)
55 |STG11(13)70(10)AE-02-01-13 =k 45

56 HS-8*48 HITS FHIRRE M8*45

57 ZHFB-6*12 AN FRE S TH E R M6*12

58 |STG11(13)70(10)AE-02-01-17 kS 2R A3

59 CP-3.2%29 FE 4 3.2*29
60 FB-13*24*2 S ©13.5%(p24x2
61 [STG11(13)70(10)AE-02- e

62 |STG11(13)70(10)AE-02-01-18 B SC 48 A3

63 NHLN-10 LB AP IELE M10

64 SJ-035 R de R (B HE3) 65Mn
65 SX-11-149-2 A 2R L A3

66 BE-6203 RVEER I 7 6203 GB278-82
67 SJ-010B & 5)) B2 w7 50 45

68 CHS-6*8 TruikizEZ M6*8

69 SJ-010B SIEF)EL R AL

70 SJ-010A SILEN R H AL

71 C-10A-036 X 10A367j
72 STG1170AE-02-04-05 A 15~}

73 | STG11(13)70(10)AE-02-01-04 2 Bl o A Q235

74 BE-61804 TRV ER Bl K 61804

75 GPG65500A-01-02-05 758 5% A3

76 BE-6009 PRVAER A 6009

77 | STG11(13)70(10)AE-02-01-05 2 B B8 A il 45

78 HES-6*12 havil ¥4 M6*12

79 GPG65500A-11-01-02 ERIBE N E ST12

80 BE-6909 PRVAER A 6909

81 GPG65500A-11-03-01 TR HEVI13 MmRIESE
82 GPG65500A-06-01-03 [FES

83 GPG65500A-11-003-01 SRR 40Cr

84 GPG65500A-11-03 SR U A wEEE
85 GPG65500A-11-06 SR s B 40Cr




86 GPG65500A-11-03-02 AL 12 MRIBE
87 GPG65500A-11-01 FR R A ()

88 | STG11(13)70(10)AE-02-01-04 TR SR A 45
89 STG1170AE-02-04-05 e 155f
90 CP-3.2*29 T 0144 3.2X29
91 NF-007-17 FERYE AT

92 HFN-8 AN D TR R

93 NHLN-8 BB i vavi /N 35 M10
94 SW-8 LA 2
95 SJ-011A SI R IE KL 1
96 NF-19 PEAT I 2 422

97 HFB-8*45 oAV R ¥4 4
98 GPP6562C-01-09 R T ] B T R 1 1




ST1170E

Ne APTUKYN 2 ¥ Kon-Bo MEREE

1 HFB-6%16 VEZ AN S IR 1 M6*16

2 FB-6%18%1. 5 TR 1 $ 6%18%1. 5 GB95-85
3 SJ-018 SIFRE 1 JEA

4 FB-10%20%1. 5 TR 1 b 10%20%1. 5

5 NF-SX-11-075-1 L CREAT 1 A3

6 |STG11(13)70(10)AE-02-01-020 8- 1 65Mn

7 SX-11-257 JiA 1 A3

8 0SP-4%15 v R AL A 1 D4x15

9 SX-11-084 HE HEATL 1 A3

10 HL-8 e @A AP PaiEERE| 18 M8

11 FB-8%16%1. 2 HH 12 & 8%16%1. 2GB95-85
12 SX-11-259 Rk s R 1 A3

13 SJ-238 hA SR 2 JE .66

14 CB-8%16 e [5] Sk g SR 22 10 M8X16 GB12-88
15 FRP—4%42 Gl e e 1 D4X42

16 SX-11-255 FANE 1 45

17 SJ-111 i 2 40Cr

18 STG1170AE-02-04-01 KEE 1 A3

19 BE-SB204 7 R A EK T R Al A 1 SB204 GB3882-87
20 SJ-004 5 S 5 1 A3

21 STG1310AE-02-06-01 R AR 1 Q235

22 FK- (B) 6%6%20 T 1 6x6%20 GB1099-79
23 HS-8%25 CAVAYEL FA 1 M8%25

24 FB-8%28%2 Tk 1 G8X G 28X 2
25 SX-11-140 NAi i 1 HT150

26 SJ-037 PS5 1 65Mn

27 SJ-23-25 Tk E gk 2




28 SX-11-144 KR 3 1

29 SJ-050 yavi:l - ap! 1 35#

30 HS—8%40 CAVAYiL ¥ 1 M8*40

31 SJ-008C SJH e} 1 A3

39 SJ-008 Rk B 2H B Chndh &) 1

33 SJ-008B s 1 A3

34 TB-6 LI SAPIIAERE 4 M6

35 EP-8 L 1 @8

36 SJ-021 HEOEA 3 A3

37 SJ-021C HE DR A 6 A3

38 FB—6%12%0. 7 TR 13 6% O 12%0. 7
39 HS-6%20 CAVAYiL ¥ 4 M6X20

40 SJ-237 HH R LB 1 JE .66
41 SX-11-36E H O Ty 26 1

42 CPS—5%12 K IEET 2 M5 X 12

43 SJ-200-08 HEOE R 4 JE J#66
44 TB-5 LB SAPIIAERE 2 M5

45 SJ-226 HSE O fr 1 65Mn

46 | SX-11-105-1 SX-11-106-1 O ER 1 A3

47 SJ-150 kL 1 PP

48 SJ-151 B 1 PP

49 HS—6%20 ViVl A 2 M6X20

50 SJ-036 SJ5 4 1 65Mn

51 SJ-012 W EAT 1 A3

52 BE-6904 PRI ERHh K 1 6904 GB276-82
53 SJ-057 [ 1 A3

54 BE-51104 EAEEi ARSI 1 51104 GB301-84
55 PS-32%20%7 kS 2 32X 20X 7
56 SJ-001 A 1 A3

57 SX-11-114 A& SR Ee i 1 40Cr

58 FRP-6%30" Bl e 2 & 6X30 GB879-86
59 BE-16001 TRV BRHh 7K 1 16001 GB276-82
60 SJ-101 JECJAE 1 71102
61 WG—8 o 1 P TN
52 RM—5HP i 1

63 5J-108 fihbiES 2 WARIEE
64 0S-30%19%7 pES] 2 30X 19X 7
65 CPS-5%10 +F AL BET 1 M5%10

66 SJ-038 IREe 1 7GuAl10Fe3
67 SJ-101A R 1 71102
68 EP-6 LR 7 D6

69 HS—-6%20 CAVAYEL i 6 M6X20

70 HS—-6%25 CAVAYEL YE 1 M6X25

71 SJ-019 IR /N E 12 P okaaliid

72 28-SX-11-301 St B 282 2 PP

73 30-SX-11-125 SR 3 A3

74 28-SX-11-300 £ 281 4 PP

75 CB-8%20 7 Sk T S AL 2 M8*20

76 SX-11-132 KR 1 45

7 5J-020 RS 2 FHEE
78 FB-19%38%1. 5 TR 4 ¢ 19%38%1. 5
79 SJ-024 K 2 ST12

80 HS-8%10 VAL Y 6 M8%10

81 NJ-01 it e 6

82 NJ-02 Rl 6 65Mn

83 28-SX-11-134 BOw 1 45

84 WK—5%7. 5%19 [ 1 5%7. 5%19
85 30-SX-11-135 BT 3 A3




	Sheet1
	Sheet2
	Sheet3
	Sheet4

